Data Structures with C++ using STL

Errata File
Text

Page 90:

Bottom of page
(Input) >>:
friend istream& operator>> (istream& istr, className& obj);
Page 119: 
The final for loop should read

for (i=0;i < 15;i++)


cout << arr[i] << "  ";

Page 165: 
In the  formula for fib(n), the final exponent should refer to the second term in brackets.
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Page 230:
Example 5-5
intPtr = new int;
Page 232:
Example 5-6, part 1
throw memoryAllocation("Memory allocation error!");
Page 239:
ptrObj2 = new dynamicClass<int>(2, 200);





Constructor for *ptrObj2(2,200)

Pages 255-256:
The listing of push_back() should be modified as follows:

// ensure that list has sufficient capacity,

// add the new item to the list, and increment vSize

template <typename T>

void miniVector<T>::push_back(const T& item)

{


T newValue = item;


// if space is full, allocate more capacity


if (vSize == vCapacity)


{



if (vCapacity == 0)




// if capacity is 0, set capacity to 1.




// set copy to false because there are




// no existing elements




reserve(1,false);



else




// double the capacity




reserve(2 * vCapacity, true);


}


// add item to the list, update vSize


vArr[vSize] = newValue;


vSize++;

}

Page 354:
void postfixEval::getOperands(int& left, int& right)
{ ... }
Page 513:
The node with value J should have value I. The final Tree 1 is
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Page 560:
A portion of the Figure 10-22 is missing, along with tree labels.
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Page 621:
The 9th line from the top of the page should read as follows:




beginIdentifier = true;

Page 702:
Figure 10-1 in the last paragraph should be 12-20.

Page 874:
In the code described for Partition Level 0, the computation of mid should be

mid = (10 + 0)/2 = 5

Page 964:
In first sentence of the last paragraph, the graph referenced is that of Figure 16-13.
The following are the iterative steps for the graph in Figure 16-13, assuming A is the starting vertex.
Page 965:
The labels (a), (b), and (c) were omitted from the figure in Step 3.
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Page 966:
Figure (g) should conclude with vertex F.
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Page 969: 
Figure 16-14 caption should be "Graph Representing Depth-First Visit".

Page 983:
In the discussion for WHITE, "Because vs is WHITE ...".
Page 986:
The second from the last sentence of the last paragraph should read

Recall that currPos and neighborPos are the indices for elements in the vInfo vector corresponding to the current vertex and neighbor vertex respectively.

Page 994:
Step 3 should read

Step 3:
Remove minInfo(E,4) from the priority queue and mark E as visited, with minimum path weight of 4. Vertex E has one unmarked neighbor, D. Extending the path from E to D  by adding edge (E,D) has the following weight:


Path weight to E + weight(E,D) = 4 + 10 = 14.

 The new path is no improvement over an existing path to D with weight 12. Go to the next step.
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Exercises

Page 102:
Answers should be

11' 8"

 6' 2"


Page 175: 
In exercise 25(a), the for-loop is missing a right parenthesis.



for (i=0; i < n; i++)

Page 176: 
In exercise 25(b), the declaration should include the integer variable j.



int i, j;

Page 213: 
In exercise 17(a), the third line of the strategy should read

i=0 / j=n-1,  i=1 / j=n-2,  i=2 / j=n-3, ..., while i < j

Page 318: 
In exercise 11, delete the semicolon (;) at the end of the function header.



void func(list<T>& alist)

Pages 574 - 576:
The publisher misplaced some of the graphics. The following are the solutions to Review Exercises 10-2, 10‑5(a), 10-10(a), 10-10(e), 10-11, and 10-13, in order left to right, top to bottom.
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Page 642: 
In exercise 27(a), the last sentence should read "If the object is present, use the << operator ...".

Page 924 and 926:
In Review Exercise 15-4, max() returns a value of type T.

T max(const vector<T>& v, int first, int last);

In the answer on page 926, use the declarations

T maxL, maxR;

int mid;
Page 1008:
The C++ statement in Review Exercise 5 should read



cout << vInfo[vtxMap[v]].edges.size();

Page 1008:
The last part of Review Exercise 16-7 should be labeled (e).

(e)
Minimum path from B to G

Page 1011:
The first sentence of exercise 17 should read

"For the graph in Figure 16-28(b), replicate the trace of Prim's algorithm from Section 16-6 to create a minimum spanning tree.

Page 1012:
In exercise 19, Graph B should be as follows:
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Page 1014:
In exercise 22, the graph should be as follows:


[image: image14.wmf]A

D

E

C

B

F

G


Page 1015:
In exercise 23, the graph should be as follows:
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